

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2021

Progress Estimate Number	Contract ID	210122-H06	Start	. ,	Original Contract Amount	\$1,296,256.38
5	Prime Contractor	H.R. Quadri Contractors, LLC	Pay Period End	September 15, 2021	Net Change Order Amount Current Contract Amount	\$18,533.16 \$1,314,789.54

Approval Date		By User
September 16, 2021	Generated and Approved (and should be considered Draft) at the Project Office Level by	camdel1
September 16, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	wilkem1
September 17, 2021	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2021	November 1, 2021		55.10%

	Milestones		
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	February 3, 2021	February 3, 2021	
Letting Date	January 22, 2021	January 22, 2021	
Notice to Proceed Date	March 8, 2021	March 8, 2021	
Work Began Date			

Contract Total Pay For Estimate No. 5											
		This Estimate	Previous	To Date							
210122-H06											
Total	Posted Items Pay	\$165,463.69	\$559,033.73	\$724,497.42							
Gros	s Item Adjustments	\$0.00	\$0.00	\$0.00							
Incer	ntive	\$0.00	\$0.00	\$0.00							
Disin	centive	\$0.00	\$0.00	\$0.00							
Liquio	dated Damage	\$0.00	\$0.00	\$0.00							
Othe	r Contract Adjustments	\$0.00	\$0.00	\$0.00							
	-		\$559,033.73	\$724,497.42							
Contract Total Pavable This	Estimate:	\$165.463.69									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
J9S3556	0800	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$61.600	2,450.62	\$150,958.19				
	0100	4071005	TACK COAT	GAL	\$2.000	97	\$194.00				
	0140	6161005	CONSTRUCTION SIGNS	SQFT	\$6.500	253.5	\$1,647.75				
	0181	6181000	MOBILIZATION	LS	\$49,887.000	0.25	\$12,471.75				
	0420	8061016	SEDIMENT REMOVAL	CUYD	\$5.000	12	\$60.00				
	0430	8061019	SILT FENCE	LF	\$2.400	55	\$132.00				
Project J9S35	Project J9S3556 - Total										
Overall - Tota	Overall - Total										

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	Adjust	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3556	0100	TACK COAT	Overrun			-45	\$2.00	(\$90.00)
	0100	TACK COAT	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item	45	\$2.00	\$90.00

Revision 4/1/2020 Page 1 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2021

	Progr 5	ess Estimate Number	Contract ID Prime Contractor	210122-H H.R. Quad LLC	Quadri Contractors, Pay Period End September 15, 2021		Original Contract Amount \$ Net Change Order Amount Current Contract Amount \$			18,533.16	
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments			Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3556						overridding Payment	001) due to user cam t Estimate Exception urrent Payment Estin	5 on			
Total											\$0.00

Revision 4/1/2020 Page 2 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informat	ion			
Project Number										
J9S3556	FAS S703(92)	Shoulder improvements	М	BUTLER	from County Road 462 to	County Road 441				
Totals by J	Job Numbe	ers								
J9S3556		d Item Pay Item Adjustme		tem Pay	This Estimate \$165,463.69 \$0.00 \$165,463.69	Previous \$559,033.73 \$0.00 \$559,033.73	To Date \$724,497.42 \$0.00 \$724,497.42			
	Liquid	tive centive dated Damages Contract Adjus			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			

Revision 4/1/2020 Page 3 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3556, Item 7061030, Project Item Line Number 0270, Material Set 706103096, Material 1036RSDFPL42M19 - Reinforcing Steel No. 6/M19 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting for Jeff City to enter pal information.	camdel1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3556, Item 7061030, Project Item Line Number 0270, Material Set 706103096, Material 1036RSDFPL42M36 - Reinforcing Steel No. 11/M36 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Waiting for Jeff City to enter pal information.	camdel1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3556, Item 7061030, Project Item Line Number 0270, Material Set 706103096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Waiting for Jeff City to enter pal information.	camdel1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3556, Item 7061030, Project Item Line Number 0270, Material Set 706103096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting for Jeff City to enter pal information.	camdel1	Overridden
Estimate Exception Type: Item Overrun: Contract 210122-H06, Contract Project J9S3556, Project Item Line Number 0100, Contract Line Item Number 0100, Item 4071005, Minor Item.	Waiting on Tack Tickets to enter report.	camdel1	Overridden

Revision 4/1/2020 Page 4 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See repor- generated date)
10122-H06	J9S3556	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.75	\$50,000.00	\$37,500.0
		0001	0020	2031000	CLASS A EXCAVATION	3.00	0.00	3.00	CUYD	0.00	\$500.00	\$0.0
		0001	0030	2063300	CLASS 4 EXCAVATION	8.00	0.00	8.00	CUYD	8.00	\$100.00	\$800.0
		0001	0040	2063500	CULVERT CLEANOUT	2.00	0.00	2.00	EA	0.00	\$4,000.00	\$0.0
		0001	0050	2064000	POROUS BACKFILL	347.00	171.80	518.80	CUYD	284.00	\$45.00	\$12,780.0
		0001	0060	2129909	MISC.SHOULDER GRADING	826.00	0.00	826.00	STA	660.00	\$500.00	\$330,000.0
		0001	0070	3105002	GRAVEL (A) OR CRUSHED STONE (B)	240.00	0.00	240.00	TONS	0.00	\$40.00	\$0.0
		0001	0080	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	6,357.90	16.60	6,374.50	TONS	2,707.77	\$61.60	\$166,798.6
		0001	0100	4071005	TACK COAT	52.00	0.00	52.00	GAL	97.00	\$2.00	\$194.0
		0001	0110	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	926.00	92.60	1,018.60	CUYD	122.00	\$35.00	\$4,270.0
		0001	0120	6096042	PLACING TYPE 2 ROCK DITCH LINER	926.00	92.60	1,018.60	CUYD	122.00	\$25.00	\$3,050.0
		0001	0130	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0.0
		0001	0140	6161005	CONSTRUCTION SIGNS	1,920.00	0.00	1,920.00	SQFT	425.50	\$6.50	\$2,765.7
		0001	0150	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	2.00	\$20.00	\$40.0
		0001	0160	6161025	CHANNELIZER (TRIM LINE)	125.00	0.00	125.00	EA	26.00	\$15.00	\$390.0
		0001	0170	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.0
		0001	0180	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$59,165.00	\$0.0
		0001	0181	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$49,887.00	\$49,887.0
		0001	0190	6189902	MISC.MISC. ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.0
		0001	0200	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	81,154.00	0.00	81,154.00	LF	0.00	\$0.10	\$0.0
		0001	0210	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	73,470.00	0.00	73,470.00	LF	0.00	\$0.10	\$0.0
		0001	0220	6207001	PAVEMENT MARKING REMOVAL	81,154.00	0.00	81,154.00	LF	0.00	\$0.16	\$0.0
		0001	0230	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	540.00	166.80	706.80	SQYD	372.00	\$2.00	\$744.0
		0001	0240	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	691.60	0.00	691.60	STA	0.00	\$27.00	\$0.0
		0001	0250	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$72.50	\$0.0
		0001	0260	7034041	CLASS B-1 CONCRETE (CULVERTS)	16.90	0.00	16.90	CUYD	16.90	\$1,500.00	\$25,350.0
		0001	0270	7061030	REINFORCING STEEL (CULVERTS)	2,890.00	0.00	2,890.00	LB	2,890.00	\$2.00	\$5,780.0
		0001	0280	7250318A	18 IN. PIPE GROUP B	93.00	0.00	93.00	LF	93.00	\$50.00	\$4,650.0
		0001	0290	7250324A	24 IN. PIPE GROUP B	145.00	47.00	192.00	LF	192.00	\$70.00	\$13,440.0
		0001	0300	7250330A	30 IN. PIPE GROUP B	36.00	0.00	36.00	LF	36.00	\$90.00	\$3,240.0
		0001	0310	7250336A	36 IN. PIPE GROUP B	35.00	0.00	35.00	LF	35.00	\$110.00	\$3,850.0
		0001	0320	7250415	15 IN. PIPE GROUP C	115.00	0.00	115.00	LF	115.00	\$45.00	\$5,175.0
		0001	0330	7250418	18 IN. PIPE GROUP C	178.00	0.00	178.00	LF	178.00	\$55.00	\$9,790.0
		0001	0340	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	9.00	0.00	9.00	EA	9.00	\$400.00	\$3,600.0
		0001	0350	7320024A	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	11.00	1.00	12.00	EA	12.00	\$600.00	\$7,200.0
		0001	0360	7320030A	30 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$700.00	\$1,400.0
		0001	0370	7320036A	36 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$900.00	\$1,800.0
		0001	0380	8051000A	SEEDING - COOL SEASON MIXTURES	36.00	0.00	36.00	ACRE	0.00	\$2,250.00	\$0.0
		0001	0390	8061003	SEDIMENT TRAP EXCAVATION	133.00	0.00	133.00	CUYD	0.00	\$25.00	\$0.0
		0001	0400	8061004	SEDIMENT TRAP ROCK	289.00	0.00	289.00	CUYD	0.00	\$42.00	\$0.0
		0001	0410	8061005	ROCK DITCH CHECK	2,754.00	0.00	2,754.00	LF	2,227.00	\$11.00	\$24,497.0
		0001	0420	8061016	SEDIMENT REMOVAL	255.00	0.00	255.00	CUYD	12.00	\$5.00	\$60.0
		0001	0430	8061019	SILT FENCE	2,550.00	0.00	2,550.00	LF	195.00	\$2.40	\$468.0
			0440	8069902	MISC.FLOCCULANT SOCK	11.00	0.00	11.00	EA	0.00	\$135.00	\$0.0

Revision 4/1/2020 Page 5 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
210122-H06	J9S3556	0040	0450	9031260	WOOD POST, 4 IN. BY 4 IN.	180.00	0.00	180.00	LF	90.00	\$10.00	\$900.00	
		0040	0460	9031270A	2 IN. PSST POST - 12 GA.	216.00	0.00	216.00	LF	0.00	\$7.00	\$0.00	
		0040	0470	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	54.00	0.00	54.00	LF	0.00	\$13.00	\$0.00	
				0040	0480	9035004A	SH-FLAT SHEET	54.00	0.00	54.00	SQFT	0.00	\$20.00
		0001	5001	6189901	MISC.Adjust Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$9,278.00	\$9,278.00	
Project J9S3556 - Total Value Posted to Date as of Report Generated Date										\$733,697.38			
210122-H06 Ove	210122-H06 Overall - Total Value Posted to Date as of Report Generated Date											\$733,697.38	

Revision 4/1/2020 Page 6 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3556

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0080 4	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	9/13/21	9/14/21	1,013.38	TONS	WBL Shoulders 7.686 through 4.517	7.686		4.517		
			9/14/21	9/14/21	293.13	TONS	WBL Shoulders 4.517 through 3.791	4.517		3.791		
			9/15/21	9/16/21	1,144.11	TONS	Route M WBL Shoulders	3.791	West	0.91	West	
0100	4071005	TACK COAT	9/11/21	9/14/21	97.00	GAL	Coverage over Cross Pipes in Various Locations from log mile 0.279 through 6.870	0.279		6.870		
0140	6161005	CONSTRUCTION SIGNS	9/15/21	9/16/21	4.50	SQFT	Rte. M Pilot Car Follow Me G020-4 36X18	0.000		7.691		
				9/16/21	16.00	SQFT	Route M Flagger Symbol with Flags W020-7a 48 x48	0.000		7.691		
				9/16/21	16.00	SQFT	Route M One Lane Road Ahead 48 x 48	0.000		7.691		
				9/16/21	16.00	SQFT	Route M Road Work Ahead W020-1 48 x 48	0.000		7.691		
				9/16/21	105.00	SQFT	Rte. M Pilot Car In Use Wait & Follow G020-4a 42X30. Used at the county roads.	0.000		7.691		
0181	6181000	MOBILIZATION	9/15/21	9/16/21	0.25	LS	Route M	0.00		7.691		
0420	8061016	SEDIMENT REMOVAL	9/9/21	9/14/21	12.00	CUYD	Rock Ditch Checks 4.03, 4.205, 4.40, 4.59, 4.76, 4.77, 6.42, 6.68, 7.23, 7.21, 7.185, 7.168, 7.143	4.03		7.143		
0430	8061019	SILT FENCE	9/9/21	9/14/21	55.00	LF	Added silt fence on both ends of existing silt fence at log miles 4.07 thru 4.08					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 4/1/2020 Page 7 of 8





Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3556	0050	POROUS BACKFILL	Material		3	Jul 16, 2021	SYSTEM	\$12,780.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jul 16, 2021	SYSTEM	(\$12,780.00)	
					4	Sep 3, 2021	SYSTEM	\$12,780.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user slaytc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Sep 3, 2021	SYSTEM	(\$12,780.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0050 -	· Total						\$0.00	
	0100	TACK COAT	Overrun	Overrun	5	Sep 16, 2021	SYSTEM	\$90.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user camdel1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	Sep 16, 2021	SYSTEM	(\$90.00)	
				Overrun - Total				\$0.00	
			Overrun - Total					\$0.00	
	0100 -	100 - Total							
	0260	CLASS B-1 CONCRETE (CULVERTS)	Material		2	Jul 1, 2021	SYSTEM	\$14,100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Jul 1, 2021	SYSTEM	(\$14,100.00)	
					3	Jul 16, 2021	SYSTEM	\$25,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user camdel1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Jul 16, 2021	SYSTEM	(\$25,350.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0260 -	· Total						\$0.00	
19S3556 - Total								\$0.00	
Overall - Total								\$0.00	